
         
Understanding cause and effect in English Grammar 

What are cause and effect  

cause and effect relationships are often expressed using specific conjunctions or 

phrases. Common conjunctions include 'because,' 'since,' 'as,' and 'due to,' while 

phrases like 'as a result,' 'therefore,' and 'consequently' indicate effects. These 

elements help connect actions or events logically, showing the reason behind an 

outcome. 

Explication in French: 

 les relations de cause à effet sont souvent exprimées à l'aide de conjonctions ou de 

phrases spécifiques. Les conjonctions courantes incluent 'because', 'since', 'as', et 

'due to', tandis que des phrases comme 'as a result', 'therefore', et 'consequently' 

indiquent les effets. Ces éléments aident à connecter logiquement des actions ou 

des événements, montrant la raison derrière un résultat." 

Examples: 

Conjunctions: 

● Because: He failed the exam because he didn't study. 

● Since: Since it was raining, we stayed indoors. 

Phrases: 

● As a result: The team worked hard, and as a result, they won the 

match. 

 

 

Common Mistakes: 

When using cause and effect, a common mistake is misplacing the 

conjunction or phrase, which can lead to confusion in the intended 

meaning. For instance, using "because" instead of "as a result" in a 

sentence emphasizing the consequence can alter the message 

significant: 

She couldn't enter the concert because she didn't have a ticket." 

Correct: "She couldn't enter the concert as a result of not having a ticket. 

 



 

 

 

Interactive quiz :  

 

Ready to put your knowledge to the test? Take this quiz to see if you've 

mastered the lesson. 

 

Beginner: 

1. Fill in the blank: She couldn't attend the party ______ she had to work late. 

 a) because 

 b) due to 

 c) since 

 d) hence 

2. Choose the correct phrase: He forgot his umbrella, __________ he got 

soaked in the rain. 

 a) thus 

 b) therefore 

 c) consequently 

 d) accordingly 

3. Select the appropriate conjunction: The train was delayed _____ there was 

heavy snowfall. 

 a) although 



 b) because 

 c) hence 

 d) consequently 

Intermediate: 

1. Rewrite the sentence using "thus": He didn't study; __________, he failed the 

exam. 

 a) so 

 b) therefore 

 c) hence 

 d) as a result 

2. Fill in the blank with an appropriate phrase: They missed the flight __________ 

they overslept. 

 a) because 

 b) hence 

 c) as a result 

 d) therefore 

3. Choose the correct conjunction: The road was closed __________ the 

construction work. 

 a) because 

 b) hence 

 c) as 



 d) due to 

 

 

 

Advanced: 

 

1. Explain the cause and effect relationship in this sentence:  

She forgot her keys, consequently she couldn't enter the house." 

 a) Forgetting the keys caused her inability to enter the house. 

 b) She couldn't enter the house, and as a result, she forgot her keys. 

 c) Her inability to enter the house led to her forgetting the keys. 

 d) Forgetting the keys was the result of not being able to enter the house. 

2. Write a paragraph using at least three cause and effect phrases or conjunctions 

to describe a recent event or decision in your life. 

 Your paragraph here. 

3. Identify the correct cause and effect relationship in this sentence: "The heavy 

rain caused flooding; therefore, many roads were closed." 

 a) Flooding led to heavy rain, which caused road closures. 

 b) Heavy rain resulted in flooding, leading to road closures. 

 c) Road closures caused heavy rain, which led to flooding. 

 d) Road closures caused flooding, leading to heavy rain. 

 

 



 

 

 

 

 

The answers  

 

Beginner: 

1. a) because 

2. b) therefore 

3. b) because 

Intermediate: 

1. c) hence 

2. a) because 

3. d) due to 

Advanced: 

1. a) Forgetting the keys caused her inability to enter the house. 

2. (Provide your own paragraph) 

3. b) Heavy rain resulted in flooding, leading to road closures. 

 


